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The pauses are pre-recorded for this test.

Advice

This is what you should do for each item.
e  After the question number is announced, there will be a pause to allow you to read the
instructions and questions.
Listen carefully to the recording and read the questions again.
Listen to the recording again, and then answer the questions.
When the next question is about to start you will hear a bleep like this (*).
You may write at any time during the test.
In Section A answer the questions in English. In Section B answer the questions in Bengali.
You must answer all the questions in the spaces provided. Do not write on blank pages.
Write neatly and put down all the information you are asked to give.
You must not ask questions or interrupt during the test.
You now have five minutes to read through the question paper. You may make notes during this
time. You may open your answer book now.
The test starts now.

Once the recording has started, the Invigilator must not
pause it at any time as all pauses, including the five
minutes’ reading time, are pre-recorded.
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Section A

Questions and answers in English

Example:
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Questions and answers in Bengali

Section B
22 M1
23 F1
24 F2
25 F2

M1

FE( &fS I=F (IR T 21T T4 T | QAT N1 KH0K AL AR_ACEE
I T ST A0 T @ | OF AN ool 3ot Tz =i
ST O [ T T | (T AT 08T NFE ZCEAT, IET T TG | 8
FINT S T, A (AT AT NI HFNS QIR AN (o A |

ify @I Py F8 SIsE Seeib! St A | SR, NT-ae &
THAR R @, (FC TATS FCe AR 1 | M NfFecas oite g
ToCeTl T T ETFENE WA TH (AF (X6 WPTS IRCE | FISCT (ered
SCHY (RICHT (RECIRIACS WC (ARG ST 47 38 f=re |

T qeIfR AENTCT R0 (TS i ag sieer | fofd o e e
R0 (AT AT & NP AN I QiR | [ e fsf qimr
ZCe A T & TReEd g AfRbe | wF Bro o fofF *reaw sy
FRCET FIR DS |

I5RI, GFE (BT 0O HAFCF (F @R FIOII (T GRS PATRA?

I ©IF AMS RITS 4T AN (LETBT AT X OIS o7 TR (AT
BIST S&M A @ FIR (QATF | BT (@I (Y f&re wie 27 @3 fay
sifesia @ W e, “d-0, oW okace svR wrel ¥ fews
(TG 7S cot”

END OF TEST

Copyright © 2016 AQA and its licensors. All rights reserved






